
Scanner engine covers and panels

Figure 8-3  Scanner engine covers and panels (1 of 2)

414 Chapter 8   Parts and diagrams ENWW



Figure 8-4  Scanner engine covers and panels (2 of 2)

416 Chapter 8   Parts and diagrams ENWW



Table 8-5  Scanner engine covers and panels

Ref Description Part number Qty

1 Screw, stepped M4x3.2 Not orderable 2

2 Plate, crossmember Not orderable 1

3 Bracket, mount Not orderable 2

4 Delivery tray assembly RG5-6316-000CN 1

5 Plate, cover upper Not orderable 1

6 Cover, left RB2-8054-000CN 1

7 Plate, protect Not orderable 1

8 Rear cover assembly Not orderable 1

8A Holder, document stop Not orderable 1

9 Plate, rear sub Not orderable 1

10 Cover, connector RB2-8060-000CN 2

11 Screw, M3x5 Not orderable 4

12 Guide, delivery unit RF5-3674-000CN 1

13 Cover, copyboard unit RF5-3695-000CN 1

14 Label, jam clearing Not orderable 1

15 Screw, TP M4x8 Not orderable 2

16 ADF rear cover assembly RG5-6315-000CN 1

16A Hinge cover assembly RG5-6317-000CN 2

17 Screw, RS M3x6 Not orderable 16

18 Screw, RS M3x8 Not orderable 7

ENWW Scanner engine covers and panels 417


